MULTIPLICATION: NEGATIVE DECIMAL NUMBERS (H - SET 2)

TWO DIGIT DECIMAL NUMBER Name:
Time: Score: y—
1 —0.0001 x (—0.6) = 316) - (0.006 x 0.035 =
0 —0.001 x 0.62 = 51 0.0001 x (—86) =

03 0.08 x (—23) =
04 0.0003 x (—4.7) =
305 0.3 x (—0.094) =
306 (0.0006 x 0.0047 =
307) =7 x ()=
508)(0.005 x 40 =

39) 0.7 x 0.11 =

3510 —0.9 x 0.0084 =
sy (0.0002 x 0.028 =
3512 —(0.09 x 0.34 =
313 —0.9 x 0.024 =
s —(0.1 x 2 =

315 —0.0002 x (—0.24) =
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6 x 0.028 =

—0.08 x 0.8 =

8 %X 29 =

0.02 x (—0.0072) =
—0.0003 x (—=0.77) =
—10 x (—0.66) =
0.01 x (—47) =
0.001 x (—=9.9) =
0.0001 x 0.008 =
—0.0007 x 0.0086 =
—0.001 x 31 =

0.1 x 0.08 =

0.09 x 0.0031 =
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